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Important Instructions for the Candidates :

1.

This Test Booklet contains 50 questions printed in English and
Hindi. Out of these, the candidate is required to answer any
40 questions. If a candidate answers more than 40 questions,
the first 40 answered questions will be considered for
evaluation.

When you are given the OMR Answer Sheet, fill in your
particulars on it carefully with blue/black ball point pen only.
Use only Blue/Black Ball Point Pen for marking responses.
The CODE for this Test Booklet is D. Make sure that the
CODE printed on the OMR Answer Sheet is the same as that
on this Test Booklet. Also ensure that your Test Booklet No.
and OMR Answer Sheet No. are exactly the same. In case of
discrepancy, the candidate should immediately report the
matter to the Invigilator for replacement of both the Test
Booklet and the OMR Answer Sheet. No claim in this regard
will be entertained after five minutes from the start of the
examination.

Before attempting the question paper kindly check that this
Test Booklet has total 28 pages and OMR Answer Sheet
consists of one sheet. At the start of the examination within
first five minutes, candidates are advised to ensure that all
pages of Test Booklet and OMR Answer Sheet are properly
printed and they are not damaged in any manner.

Each question has four answer options. Out of these four
options choose the MOST APPROPRIATE OPTION and
darken/blacken the corresponding circle on the OMR Answer
Sheet with a Blue/Black Ball Point Pen.

Five (5) marks will be given for each correct answer. One (1)
mark will be deducted for each incorrect answer. If more than
one circle is found darkened/blackened for a question, then it
will be considered as an incorrect answer. Unanswered
questions will be given no mark. P.TO.
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314 EH/D (2)

1.  Which of the following statements of Gandhiji made at the opening of Banaras Hindu University are true ?
(A) Gandhiji charged the Indian elite with a lack of concern for the labouring poor.

(B) Gandhiji was not worried about the contrast between the “richly bedecked noblemen” and millions of

poor Indians.
(C) Gandhiji said, “Our salvation can only come through lawyers, doctors and rich landlords.”
(D) Gandhiji emphasised that farmers are going to secure the salvation of India.

(E) Gandhiji told the privileged invitees, “Strip yourself of this jewellery and hold it in trust for your

countrymen.”

Choose the correct answer from the options given below :

(1) (A), (B) and (C) only (2) (©), (D) and (E) only
(3) (B), (C), and (D) only (4) (A), (D) and (E) only
2.  Match List-I with List-II :
List-I List-11
(A) Khilafat Movement () Mahatma Gandhi's biographer

(B) Jallianwala Bagh Massacre (II) Turkish ruler

(C) Kemal Ataturk 1y 1919

(D) Louis Fisher (IV) 1919-1920

Choose the correct answer from the options given below :
(1) (A)- @, (B)- (I, (C) - (1), (D) - (IV)
2) (A)- D, (B)-1V),(C) - (D), (D) - (IIT)
(3) &) -diD), B) - (D), (C) - AV), (D) - (II)
4 (A)-AV), (B) - (D), (C) - (), (D) - (I)

3.  Mahatma Gandhi’s Salt March was notable as the first nationlist activity focused on
(1) Women (2) Lord Irwin
(3) Subhas Chandra Bose (4) 15 March, 1930

4.  “Purna Swaraj” as the goal of nationalism in India was aimed to achieve
(1) Partial freedom (2) Complete independence
(3) Indian identity (4) Partition
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314 EH/D (3)
1. = fég fraforener & Squres & gmw witeish & weifa frfafaq s d adma wd € o
(A) TR = T STfSTTd-ant o smsiielt Tiet s fefar = s st ST o |
(B) TITefTSTt 3T et I Sl T ST o st o 3fa o s H feifer 7 o |
(C) Tefisft 3 et o, “TuTY qfth et Fehic, et 3T Tl STeffart o Areas & & & gkt @ 17
(D) el = 3 a1 T SR oo o6 forem s ot ek giaa FA ST 2 |
(E) TITefSTt o foriy &9 & AR Il & 8T, “34 AT 1 IAR 3 SR 39 e & g = (32) §

FH T |”
=t faw T forepedt 7 & HE ST -
(1) %< (A), (B) 31 (C) (2) 9 (C), (D) 3 (E)
(3) e (B), (C) 3R (D) (4) 6 (A), (D) 3 (E)
2. G- FE-11 o |1 gaferd &1
Tef-1 -1
(A) Taersad siEes ()  weTe ieft 3 Start orash
(B) SIATSTEAT ST THER (I) o1 e
(C) HTS SAATdh ) 1919
(D) TR (IV) 1919-1920
i fa o foreredt & & et ST -

(1) (A)- (D, (B) - (D), (C) - (1), (D) - (IV)
2) (A)- D, (B)-1V),(C) - (D), (D) - (IIT)
() (A)- (1), (B) - (), (C) - (IV), (D) - (IN)
(4) (A)-(1V), (B) - (IID), (C) - (ID), (D) - (I)

3. HETeny Teht o T ure U Shiegd T TSaTeT MIfafey o &9 § Sooia- 12 o |
(1) wfgarsi (2) e M
(3) AW EZ A" (4) 15T, 1930
4. Rd UGS o &7 o &9 H “Y0f SIS T 369 =1 SITH AT 9T |
(1) ik Tar=ran (2) 9ol ST
(3) YNNI g 4) favre
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314 EH/D (4)

5. Who was the Judge who presided over Gandhiji's trial after the withdrawal of the Non-Cooperation

Movement ?
(1) Justice C.N. Broomfield (2) Justice William Hodges
(3) Justice Joseph Noel (4) Justice Thomas Barker

6.  When were separate electorates first created by the British Colonial Government ?
(1) 1919 (2) 1923 (3) 1909 (4) 1907
Read the passage and answer the five questions that follow.

Mughal chronicles, especially the Akbar Nama, written by Abu’l Fazl, have bequeathed a vision of empire in
which agency rests almost solely with the emperor, while the rest of the kingdom has been portrayed as following
his orders. Yet if we look more closely at the rich information, these histories provide information about the
apparatus of the Mughal State from which we may be able to understand the ways in which the imperial
organization was dependent on several different institutions to be able to function effectively. One important

pillar of the Mughal State was the nobility.

7.  Mughal chronicles viewed the emperors as supreme sovereign because
(1) Nobility wanted him to be one.
(2) Vision of empire viewed the emperor as the sole ruler.
(3) Chronicles were a rich source of history.

(4) Imperial administration was weak.

8.  Which section of the Mughal Court was viewed as very significant ?
(1) Imperial vision (2) The Empire
(3) Nobility (4) Mughal Chronicles

9.  Which chronicle says that the entire kingdom has to follow the king's orders ?
(1) Urdu Akhbar (2) Badshah Nama
(3) Akbar Nama (4) Kitabkhana

10. The Mughal imperial administrative apparatus was effectively dependent on

(1) Travellers (2) Nobles (3) Masses (4) Mir Bakshi

11.  Who is the author of Akbar Nama ?
(1) Chandrabhan Barahman (2) Muhammad Kazim
(3) Lahori (4) Abu’l Fazl

SPACE FOR ROUGH WORK / T% & & foTu sitg



314 EH/D (5)

5.

FTEEANT AT oh ATTE A o 18 TSI o TohaH shl SATel shl HIATS shl HEAETAT FLA ATt =ATATENIT hi o 2

(1) =l €.e. sEhies (2) = faferem g

(3) ~rEfd St e (4) =IrEmf offwe ST

frfesT aftafrafimes TR g e eel IR g fHatees Hee s 7T 2

(1) 1919%" (2) 19231 (3) 1909 T (4) 19074

TTEITYT Y U 3R 38k = f2u o uter waf F 3w s

WWW(ChronicleS),WWﬁ 37 FTET S SESERK %,%WW@T@@W&W
TSt wiieh SfR S ST QO AXE § UehHT sewe H Ffed el € Stafeh 31 U5 shi ST o AT bl et Fd
U fafra foma @ | forrq) et Trsar-a o S H 3 QfreTieen foremont & ST 6g ST &1 8 & § 3@ df &7 34
TR T 9 Hohd & SFE T9ET @7 H W HE & o g wred - TR i dwens it
o | A T3 T ok HEweqU] & STSTI-a o |

7.

10.

11.

T UfrRTieh frarolt  SeITe! sl Halted 6 o &9 H <@ T it
(1) ATHSITa-ant <Tea ot fof 98 Hated Sy & |

(2) GTETIS BRIV ATQRTE T THHTH IMTEe o €9 H ST o |

3) UfereTieres foremor (Chronicles) W%W@H OF

(4) TTHTST JIET HHSIT o7 |

I SR o o foedt ohl T8 Ul WIHT ST o 2
(1) dTHTSIaTE gfe (2) 9T
(3) AfrsTq-ant (4) T UfreTRée for@er (Chronicles)

-1 UfeTiék frsRoT (Chronicle) %&dT & o IU TS (kingdom) T STERITE % TR T ITEH HEAT TSl
22

(1) 33 3FGaR (2) rEEE T

(3) 37 ATHT (4) TwraE@mr

T AHTSTh SR =TTl &9 9 it e

(1) =@ (2) ATt ® (3) T SHAT I (4) e ®m
I7eha AT % AEh I & 2

(1) <E9H ST (2) HEHHS IS

(3) @ (4) AT Bsicd
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314 EH/D (6)

Read the passage and anwer the five questions that follow :

The Constituent Assembly deliberated upon the Indian Constitution, which came into effect on 26 January, 1950.
It has the dubious distinction of being the longest in the world. But its length and complexity are perhaps
understandable when one considers the country's size and diversity. At Independence, India was not merely large
and diverse, but also deeply divided. A Constitution designed to keep the country together, and to take it forward,
had necessarily to be an elaborate, carefully-worked-out, and painstakingly drafted document. For one thing, it
sought to heal wounds of the past and the present, to make Indians of different classes, castes and communities

come together in a shared political experiment. For another, it sought to nurture democratic institutions.

12.  When did the Constitution of India come into force ?
(1) 26" January, 1950 @) 15" August, 1947

(3) 31% January, 1929 4) 6™ November, 1949

13.  Why is the Constitution of India described as the longest document in the world ?
(1) Itis a painstakingly drafted document.
(2) Itis carefully worked out.
(3) It imbibes culture of hierarchy.

(4) The country size and diversity impacted the Constitution length.

14. How can we say that the Constitution of India seeks to unify India ?
(1) It deals with the country's problems.
(2) The area of the subcontinent was under its control.
(3) It was designed to keep the country’s divided classes, communities and castes together.

(4) It was to nurture democratic institutions.

15. In which body was the Constitution of India deliberated upon ?
(1) Parliament of India (2) Through Newspaper coverage
(3) Constituent Assembly (4) Princely States

16. The nature of the Constitution imbibed the right to
(1) Cultural Rights (2) Educational Rights
(3) Equality (4) Religion

SPACE FOR ROUGH WORK / T% & & foTu sitg
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TIEITIT Y U I 38k et fou o uter weii 3w S

HIU 9T 3 At wiee ot foem-fomst R St 26 SiHall, 1950 1 AN gAT | 7€ @ea: gHET A ded
T T ® | AfoRT 3Rt ST (length) 3R Sfectar Iae ae Twe § ST & S 437 o SRR 37 fafaear w fomm
ToRaT ST 2 | TAAT o W, WA 7 shacl el S faforera Tt o, sifesh et di o forar gt (fervforar) awr oft o | T8
T 237 T ehSledT SR wTh o g weh fored, et forem-fomet w smranita Sfie wrarfigde ey foer mn wiour
TS o7 | Toh T, T Eigem 7 S7efia 37 aaa o =1at I Ted e 7R v o, snfoe it wxem & o2
WIS Shi o WIS TStAiTcrsh SRINT o ST i o Hag &l 8 | GOl ST, 38 Tlshaitieh Seri shi forshfira e o1 off

T R 2 |

12, RA T EITEH el AR gAT 2
(1) 2657, 1950 (2) 15 3T, 1947
(3) 31SHe, 1929 (4) 69, 1949

13.

14.

15.

16.

VI o W bl G 6T e Tl TSt 1 el ST € 2
(1) 8 g Hed § IR fohaT T SEdTalst € |

(2) 9 WIS AT fora |

(3) T TETIHRH ol TR hT SATHHT FAAT |

(4) 0 TR R fafereran I e it defar b1 yunfera fomam |

T S T W & foh TIRT o1 HITET R 1 The[e AT <Ted © 2

(1) I3 i guEret | fuear? |

(2) SUHETEIY T &5 THok (=07 T o |

(3) 9 o o fAfre= o, it 3 TEmi § o AT i Tehsle W@ o g sifvekfoud (fesme) foram mn
or |

(4) & TR GeITT b foepfd e & forg e |

form ferra 0 v o wferam W foem-fermet foram mam o 2

(1) Y i ¥g (2) THTER-UF FHALS o AT o
(3) dfaye o (4) it femad

ifere o weRfd 3 SRR ST SATCHETA fofaT |

(1) HiEhideh ATTHR (2) Siferk SRR

(3) FHWT (4) od
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314 EH/D

17.

18.

19.

(8)

Which of the following statements are correct ?

(A) Harappan seal was a most distinctive artifact of the Harappan Civilization.

(B) Harappan seal motifs conveyed a meaning to those unable to read it.

(C) Harappan seals had Sanskrit script on them.

(D) Harappan seals had Pali and Prakrit inscriptions on them.

(E) Some Harappan seals show wider spacing of script from right and cramping on the left.

Choose the correct answer from the options given below :

(1) (A)and (D) only

(2) (C), (D) and (E) only
(3) (A), (B)and (E) only
(4) (A), (C)and (D) only

Match List-I with List-II :

List-1

List-1I

(A) Kushanas

()  Piyadassi

(B) Ashoka

(I) Devputra

(C) Samudragupta

(ITT)  Court-poet

(D) Harisena

(IV) Prayaga Prashasti

Choose the correct answer from the options given below :
(1 @A) -dD, B) - (D, (C) - AV), (D) - (1)
2) (A)-@, (B)- (I, (C) - (1), (D) - (IV)
() (A)-(1V), (B) - (1), (C) - (II), (D) - (I)
4 (A - D), (B) - (IV), (C) - (1), (D) - (II)

Name the first site from where the Indus Valley Civilization was discovered.

(1) Harappa
(2) Rakhigarhi
(3) Hulas

(4) Sinauli

SPACE FOR ROUGH WORK / T% & & foTu sitg



314 EH/D (9)
17. fFefafaad @ s-a s adi e ?
(A) TSTIT HEX TSUIT AT ohl Hold ToIfRTe QU] (Artifact) off |
(B) &<oT Hell W s Toml (Motifs) 37 AT ohl Teh 3¢ foarm S 58 vl o sremed o |
(C) TS H&X o & foafdr off |
(D) ST HEU T Tt 37K 51kl H forel o 9 |
(E) @m@ﬁﬁﬁﬁmwmmﬁmwmﬁﬁﬁﬁw(Cramping)
Tefid Bt 2 |
e fow e forered o & e A -
(1) heret (A) 3 (D)
(2) *A (C), (D) 3 (E)
(3) A (A), (B) 3 (E)
(4) e (A), (C) IR (D)

18.  TEA-1 1 -1 o @1 FHTCTd e :

Teit-1 Tet-11
(A) (1) Toe
(B) 3 () 2
(C) wHITH (I1l) STE-ahfa
(D) @REo (IV) ST wif
et fow T forsped € we SR T

(1) (A)- (D), (B) - (D), (C) - (IV), (D) - (1)
) (A)- D, (B)- D), (C) - (1), (D) - (IV)
(3) (A)-(1V), (B) - (), (C) - (D), (D) - ()
4 (A)- (), (B) - (IV), (C) - (D), (D) - (ID)
19.  Toeg =mdt wrar o6 WIS oo forer queere 9 g3 2
(1) zgw
(2) TETEr
(3) g™
(4) Tt
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314 EH/D (10)
20. Match List-I with List-IT :

List-I List-11
(A) Alexander Greenlaw (I)  Documenting the inscriptions on the temple walls
(B) John Marshall (I) Visits Vijayanagara in 1800
(C) IF.Fleet (III) Conservation works of Vijyayanagara began under him
(D) Colin Mackenzie (IV) Detailed photography at Hampi

Choose the correct answer from the options given below :
(1) (A)- ), (B) - AV), (C) - (D), (D) - (1)
(2) (A)-1V), (B) - (1), (C) - (1), (D) - D)
(3) (A)-1V), (B)- (@), (C) - (), (D) - (1)
4 (A)-D), ®B)-1AV),(C) - 1), (D) - (I)

21. Match List-I with List-II :

List-1 List-I1
(A) Duarte Barbosa () Morocco
(B) Marco Polo (I)  Spain
(C) Ibn Battuta (IIT) Portugal
(D) Antonio Monserrate (IV) Ttaly

Choose the correct answer from the options given below :
(1) (A)- @, B)- D), (C) - AV), (D) - (III)
(2) (A)- (D), (B) - (IV), (C) - (D), (D) - (II)
(3) (A)-D,(®B)-I), (C) - AV), (D) - D)
4) (A)- ), (B) - (IV), (C) - (ID), (D) - ()

SPACE FOR ROUGH WORK / T% & & foTu sitg



314 EH/D (11)
20.  FEA-1 1 FeA-11 % 1o gaford 1 :

Tl -1
(A) SR AHAT  |(1) Wi SRl uX Afieral T SETesieRtoT ST
(B) i AT (I) 1800 H forsrT 3 =maT
(C) SI.UF. Tl (1) TorsrmTR o EREToT 31 1 Ik ST & U
(D)  Rifer Hehstl (IV) Twdt 3 forega wicmmhl

=t faw T forepedt 7 & wE S -

(1) (A) - I, (B) - AV), (C) - (D), (D) - (D)
2) (A)- V), (B) - (1), (C) - (M), (D) - (1)
(3) (A)-(1V), (B) - (D), (C) - (1), (D) - (1)
@ (A)- (D, (B)-(AV), (C) - (), (D) - (1)

21, G-I % FEA-11 o 91 Gaferd =1 :

Teit-1 -1
(A) A SRS () =R
(B) HThI qial 1) =
(C) 51 ST (Ibn Battuta) (1) g
(D) G A av) g
et fow o forshedt # @ wE S T

(1 (A)- D, (B) - (D), (C) - (IV), (D) - (IIT)
(2) (A)- ), (B) - (AV), (C) - (D), (D) - (IT)
3) (A)- (D, (B) - (D), (C) - (IV), (D) - (IT)
(4) (A)- (1), (B) - (IV), (C) - (ID), (D) - (1)

SPACE FOR ROUGH WORK / T% & & foTu sitg
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22. Match List-I with List-II :
List-1 List-1T
(A) Pataliputra (I)  Prakrit name of Rajgir, Bihar
(B) Rajgaha (I) Present day Coastal Odisha
(C) Kalinga (III) Present day Patna
(D) Arthasastra (IV) Kautilya

23.

24,

Choose the correct answer from the options given below :

(1) (A)- 1), (B) - (1), (C) - (1D, (D) - (IV)
(3) (A)- D, (B)- D), (C) - (IV), (D) - (III)

Which of the following statements are correct ?
(A) Mahabharata has over 1,00,000 verses.
(B) Mahabharata was written by Valmiki.

2 A - D, ®B)- I, (C) - (I), (D) - IV)
(4) (A)- (D, (B) - (IV), (C) - (0, (D) - (D)

(C) V.S. Sukthankar is associated with the critical edition of Mahabharata.

(D) The critical edition of Mahabharata took 47 years to complete.

(E) The critical edition of Mahabharata ran into over 13,000 pages.

Choose the correct answer from the options given below :

(1) (A)and (B) only
3) (A), (C), (D) and (E) only

Match List-I with List-II :

(2) (B) and (E) only
(4) (B) and (C) only

List-1 List-II
(A) Kula () Larger network of kinfolk
(B) Jati (II) Families
(C) Vamsha (IIT) People
(D) Jana (IV) Lineage

Choose the correct answer from the options given below :

(1) (A)- D, (B) - (D), (C) - (M), (D) - (IV)
() (A)-(1), (B) - @, (C) - (IV), (D) - (1)

(2) (A)-(AV), (B) - (1), (C) - (D), (D) - (1)
4 (A -, (B) - (IV), (C) - (D), (D) - (T)

SPACE FOR ROUGH WORK / T% & & foTu sitg
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22,

23.

24.

Fef-1 % FeA-11 o 91 Gaferd L :

Heit-1 -1
(A) wRfAT ()  TSAIR, TR 1 STeha I
(B) TSI (II) HH TR Sffeem
(C) =i (III) FGH g
(D) Irefumre (IV) #ifee
=t faw T forepedt 7 & wE S -

(1) (A) -1, (B) - (@), (C) - (1), (D) - (IV) 2 A - D, ®B) -1, (C) - (I, (D) - IV)
3) (A)- (D, (B)- 1D, (C) - (IV), (D) - (IIT) (4) (A)- (D), (B) - (IV), (C) - (D, (D) - (ID)

g d @ -G e el €2

(A) HERA | 1,00,000 ¥ 37fereh 531k € |

(B) HETYRA % oigdh dTeHIT 9 |

(C) .08, GereIioht HETHIA o SHTA T (fhfeeheT) Heamtor & Hefer € |
(D) WETHIA o GHTA T HEhU0T 3l G 8 | 47 |1 o |

(E) WETRA T GHTCIMTCHe ThUT 13,000 § 3774k I87 o7 T |

et fow g forshedt 7 @ wE S T
(1) e (A) 3R (B) (2) A (B) 3N (E)
(3) e (A), (C), (D) 3R (E) (4) ¥ (B) 3 (C)
Feft-1 1 F-11 o @1 gaferd e :
Teit-1 -1
(A) Fd () Teoder = =g @ye
(B) e (1) 9fEr
(C) @w (1) <
(D) SH (IV) dsraet
=t faw e forepedt 7 @ wE ST -

(1) (A)- (@, (B) - (1), (C) - (1), (D) - (IV) (2) (A)-@V), (B) - (D), (C) - (ID), (D) -
() (A)-(1), (B) - @, (C) - (IV), (D) - (1) (4 (A) - ), (B) - (IV), (C) - (ID), (D) -

W)
)
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25. Match List-I with List-IT :

List-1 List-1T
(A) Meghe Dhaka Tara () Govind Nihalani
(B) Garam Hawa (II) Habib Tanvir
(C) Tamas (III) Ritvik Ghatak
(D) Jis Lahore Nahin Vekhya O Jamya-e-nai (IV) M.S. Sathyu

Choose the correct answer from the options given below :
(D) @A) -AV), (B) - D), (C) - (1), (D) - (I)
(2) (A)- (1), (B) - (AV), (C) - (D, (D) - (1)
(3) (A)- @), B)- I, (C) - (1), (D) - (IV)
(4) (A)-(D), (B)- @), (C) - (1IV), (D) - (1)

26. Who was the first woman to be ordained as bhikkhuni ?
(1) Sigala (2) Karuni Pajapati
(3) Mahapajapati Gotami (4) Punna

27. Who amongst the following were the principal deities of the Vedic pantheon ?
(1) Brahma, Vishnu, Shiva (2) Vishnu, Shiva, Indra
(3) Agni, Indra, Soma (4) Agni, Varuna, Indra

28.  Which of the following statements are not correct ?
(A) Vinay Pitaka does not describe the rules for monks.
(B) Buddhism grew only after the death of Buddha.
(C) Sutta Pitaka are the verses composed by bhikkunis.
(D) Punna was a rich land-lady.
(E) The word Chaitya may have been derived from the word chita.
Choose the correct answer from the options given below :
(1) (D) and (E) only (2) (A), (B) and (D) only
(3) (C)and (E) only (4) (B), (D) and (E) only
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25.  FEA-1 1 FeAl-11 % 1o gaford 1 :

Heit-1 -1
(A) T QTR AT (1) e Feart
(B) TRHEEAT (1) gt qe
(C) W (1) e aes
(D) FH AR el o AT SH-TA3 |(IV) TH.UE. 99
=t faw T forepedt 7 & wE S -

() (A)-(1V), (B) - (IID), (C) - (ID), (D) - (1)
(2) (A)- ), (B) - (AV), (C) - (D, (D) - (IT)
(3) (A)- D, (B)- D), (C) - (), (D) - (IV)
(4) (A)- 1D, (B) - @), (C) - (IV), (D) - (I1I)

26. Frafafed & @ firegt 3 w0 7 stfufies (3fime) a9 areft wom afeem # of 2

(1) femen (2) & TSIt

(3) HETISIafd Mwt (4) 9T (Punna)
27.  Tmafafaa & & e Jamor 3 yame <oar i 9 2

(1) s, ferouy, e (2) Ty, R, 33

(3) f, g5, 9w (4) &Af, T, 35

28. fAffaa d @R Fem o 7818 2
(A) Toreral wisteft et o1 ol fomer fiesh W el 2 |
(B) I I 7] o oG &1 Sitg, 9H T forehrd g3 |
(C) g e fregforri grr tera w2 € |
(D) T (Punna) T &t Tg-Earferdt of |
(E) =T TTsg ford v1eg @ foram mam gnm |

=t faw T forepedt 7 @ wE ST -
(1) == (D) 3R (E) (2) A (A), (B) 3 (D)
(3) %A (C) ¥R (E) (4) ¥ (B), (D) 3K (E)
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29. Madras, Bombay and Calcutta were the anglicised names of where the British first set up
trading posts.
(1) Cities (2) Villages (3) Towns (4) Capitals

30. Which of the following statements are correct ?
(A) Guru Arjan compiled Guru Nanak's hymns in the Adi Granth Sahib.
(B) Guru Tegh Bahadur laid the foundation of the Khalsa Panth.
(C) Guru Nanak composed the Guru Granth Sahib.
(D) Mirabai was a Maratha princess.
(E) Mirabai was a Rajput princess.
Choose the correct answer from the options given below :
(1) (A)and (D) only (2) (C) and (D) only
(3) (B) and (C) only (4) (A)and (E) only

31. Which Sufi teacher was also known as the ‘Gharib Nawaz’ ?
(1) Shaikh Nizamuddin Auliya (2) Khwaja Muinuddin
(3) Amir Khusrau (4) Shaikh Qutbuddin Bakhtiyar Kaki

32. Lord Jagannatha is a form of which God ?
(1) Surya (2) Vishnu (3) Shiva (4) Brahma

33.  Which among the following travellers visited the city of Vijayanagara during the 15th century ?
(A) Domingo Paes
(B) Abdur Razzaq
(C) Afanasii Nikitin
(D) Fernao Nuniz
(E) Nicolo de Conti
Choose the correct answer from the options given below :
(1) (B), (C) and (E) only (2) (©), (D) and (E) only
(3) (A), (B) and (D) only (4) (B), (C) and (D) only
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29.

30.

31.

32,

33.

g, ST 3T hetshl 37 o TSI TR Tfad AT o STET TSI 7 Ugelt SR SATATiER <Rt
Y TTIAT T ot |

(1) =l (2) Tiat (3) HEI (4) TSTeT=T
FefRag A g P-g Fea ag € 2

(A) T TSI 3 3TIfE 3 ifeet & 7% AT o ST BT Hohe foalT |
(B) T <7 SIETgL + Wierd U bt i el |

(C) T %k = TT& e Hifeel 3 T o |

(D) aITS 73T TR of |

(E) HHRISTE Toh Toiqq TSTpamd off |

Fr e T et & & W SO |

(1) heret (A) 3R (D) (2) 9 (C) A (D)

(3) heiet (B) 3 (C) (4) 9 (A) 3 (E)

fore Fhl | ol TS FATST o ATH & Y ST ST ot 2

(1) e FemER fern (2) TS qEIEA

(3) sHRgE (4) e FITE e AT
WIS ST fohe T F & & 2

(1) @ (2) ooy (3) T (4) s
Frfcfaa o o form anf 3 159 srarset & ST forer==T et o1 R foharm o 2

(A) SifEm g

(B) 3FeGLTESH

(C) Tt fAferfe

(D) AT (ST

(E) fehiatr € it

Fr g T Rt & & we S |

(1) = (B), (C) ¥R (E) (2) %A (C), (D) 3K (E)
(3) e (A), (B) 3R (D) (4) e (B), (C) 3N (D)
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34. Match List-I with List-IT :

List-I List-1T
(A) Terracotta models of plough () Kalibangan
(B) Ploughed field (I)  Shortughai
(C) Traces of canals (IIl) Dholavira
(D) Water reservoirs (IV) Cholistan

Choose the correct answer from the options given below :
(D @A) -AV), B) - D), (C) - (ID), (D) - (II)
(2) (A)-@, (B)- D), (C) - 1AV), (D) - (1)
(3) (A)- @), B)- I, (C) - (1), (D) - (IV)
4 (A)-(1V), (B) - (IID), (C) - (ID), (D) - (1)

35. Who, amongst the following, founded the Vijayanagara Empire ?
(1) Krishnadeva Raya (2) Harihara and Bukka
(3) Raja Raya (4) Rajendra Il

36. Match List-I with List-II :

List-I List-II
(A) Shell (D Shortughai
(B) Lapis-Lazuli (I) Nageshwar
(C) Carnelian (IIT) South Rajasthan
(D) Steatite (IV) Lothal

Choose the correct answer from the options given below :
() A - D), (B) - (IV), (C) - (1), (D) - (II)
(2) (A)-(1), (B)- @, (C) - (IV), (D) - (1)
(3) (A)- (@, (B)- (I, (C) - (1), (D) - (IV)
@ (A)-(aAV), (B) - (1), (C) - (ID, (D) - ()
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34.

3s.

36.

Fef-1 % FeA-11 o 91 Gaferd L :

Heit-1 -1
(A) g & = & o wfoew (I) e
(B) S@TgIATEQ (I) Mg
(C) &l % TRy (1) AT
(D) IR (1Iv) <ferea
=t faw T forepedt # € HEl ST -

() (A)-av), B) - D), (C) - D), (D) - (1)
2) (A)- D, (B)- D), (C) - (IV), (D) - (IIT)
3) (A)- D, B)- D), (C) - (), (D) - (IV)
(4) (A)-(1V), (B) - (1), (C) - (I1), (D) - ()

freferfga & @ forem s grarsa Y wemuar i 2

(1) FoeE T (2) el S e
(3) T 4) TSz fodt
Feft-1 % FeA-11 o 91 Gaferd L :
-1 -1
(A) A (I wigers
(B) TSR (AifoE-areet) () FEER
(C) MR (I11)  Eferor TsTee=
(D) WAL (RE2) (IV) o
et foq T forepedt 7 @ Wt ST

(1) (A) - ), (B) - (IV), (C) - (D), (D) - (IT)
2) (A)- 1D, (B) - @), (C) - (IV), (D) - (IIT)
() (A)- (@, (B)- (1), (C) - (1), (D) - (IV)
4 (A)-(1V), (B) - (D), (C) - (ID), (D) - (I)
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37. Match List-I with List-IT :
List-1 List-11

(A) Mahals () Territorial unit

(B) Pahariyas and Santhals (I) Permanent Settlement

©) 1793 (IIT) Rajmabhal hills

(D) Talugq (IV) Estates

Choose the correct answer from the options given below :
(1) (A)- @, ®B)-dD), (C) - A1), (D) - (IV) (2) (A)-AV), (B)- ), (C) - D), (D) - (D)
(3) (A)-AV), (B)- D), (C) - (1), (D) - (II) 4 (A)-(D, B)- 1), (C) - 1AV), (D) - (1)

38. Which of the following statements are correct ?
(A) Moneylenders were called “‘dikus’.
(B) Zamindars hired the Santhals to reclaim land.
(C) Santhals were merchants.
(D) Land of the Santhals was demarcated as ‘Damin-i-koh’.
(E) Santhals charged heavy land revenue from dikus moneylenders.
Choose the correct answer from the options given below :
(1) (A),(B)and (C) only (2) (C) and (E) only
(3) (A), (B)and (D) only (4) (C)and (D) only

39. Which of the following statements are true about the zamindars ?
(A) Milkiyat lands were cultivated for the general use of the people.
(B) Zamindars could sell, bequeath or mortgage the milkiyat lands.
(C) Zamindars collected revenue on behalf of themselves.
(D) Most Zamindars had fortresses as well as armed contingent.
(E) Control over military resources was another source of power for the Zamindars.
Choose the correct answer from the options given below :
(1) (A), (D) and (E) only (2) (C), (D) and (E) only
(3) (A),(B)and (C) only (4) (B), (D) and (E) only
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37.  SEA-1 1 FeAl-11 % 1o gaford 1 :

a1 TE-11

(A) w&d (I)  Sef3meh gehrg

(B) URTISAT 37T Tt (II) TR SEeE/EawR Sared
(C) 1793 (IlI) TSHEA qerrear

(D) dTT® (V) ST (Teee)

=t faw T forepedt 7 & wE S -

(1) (A)- @, (B)- (1), (C) - (1), (D) - (IV) (2) A)-@V), (B) - 1), (C) - (D), (D) - (T)
() (A)-(1V), (B) - (1), (C) - (D), (D) - (IT) (4) (A)- (D, (B) - (D), (C) - AV), (D) - (II)

38. fffaa d @ w-g Feadi e 2
(A) WETSHI (Moneylenders) 3T 'Tee 8T SITaT o |
(B) STHIGRT = /8 3l T: ITH i oh foIe Tl ol s ot 3 |
(C) T =AM I |
(D) @l sh Sfi I AMH-T-hle’ o &9 H ST |
(E) ﬁ%?ﬁﬁﬁﬁgq%’ﬁﬁ(Moneylenders)ﬁ o A A ?{\-TITTF&H%'&TI

et fow T forpedt # & wEl SR T
(1) *ad (A), (B) 3R (C) (2) ¥ (C) 3R (E)
(3) %A (A), (B) 3R (D) (4) A (C) 3R (D)

39. SHieRT % SR § ffrfad 3§ & -8 97 Jel & 2
(A) AN 6 1= IUANT o6 ToTq, ferfosperd sffir ot @ieft <t STt off |
(B) SHiaR ferfosrerd st 1 i e Sehd o, T o Wehd o AT el T @k o |
(C) THIER 31Ut TR T TSTE Tehd i o |
(D) fershisT STHfieRT o U G9rl S=1-aeT o A1Y-aTY fohet (BIdE) ot |
(B) =1 wEmet . f3Risror stefiert o fore s1iks ot ush o7t & o |

=t faw e forepedt 7 @ wE ST -
(1) ad (A), (D) 3R (E) (2) s (C), (D) 3R (E)
(3) %A (A), (B) 3R (C) (4) ¥ (B), (D) 3K (E)
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40.

41.

42.

43.

44,

Kauravas and Pandavas belonged to which ruling family ?

(1) Kuru (2) Panchal (3) Magadha (4) Vatsa

Which report reproduced zamindars’ and ryots’ petitions as appendices for consideration of the British

Parliament ?

(1) The First Report (2) The Seventh Report
(3) The Sixth Report (4) The Fifth Report
The rebel leaders issued Proclamations and few to propagate their ideas during the 1857 revolt.

Fill in the blank with the correct answer from the options given below :
(1) Cartridges (2) Ishtahars
(3) Sepoys (4) Talugdars

In 1857 “the life has gone out of the body” was said in reference to which state ?
(1) Jhansi (2) Awadh
(3) Kanpur (4) Delhi

Which of the following statements are correct ?

(A) Bell of arms was a store room in which weapons were kept.

(B) The army of Awadh supported the British.

(C) Firangi is a term of Persian origin applied to the British by the rebels.

(D) The 7™ Awadh Irregular Cavalry accepted the new cartridges in early May.
(E) Local leaders emerged, urging peasants, zamindars and tribals to revolt.
Choose the correct answer from the options given below :

(1) (A), (B)and (C) only

(2) (B) and (D) only

(3) (A),(C)and (E) only

(4) (D) and (E) only
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40. R R gied fra e qfar 9 et o 2
(1) ** (2) d=TA (3) =™ 4) 99

41.  Tore Rate # SR STl sht aArfershratt aht foifemT €@6e o foram o forg TR (appendices) % &9 H T4 T&d
[ERIRIEID

(1) vom foard (2) gradt e
(3) B3 (4) diadt fore
42. ToETEY AT 7 1857 o 5 o SR 39 ol &1 SRR &t o forg =i 3 s ST foh |
et T =l e fow T fashedt # O O ST A W
(1) IqH (Cartridges) (2) RA-R
(3) Terel (4) TR

43. 1857 H forw TS o e § el T o1 < W ST S ehT off 2
(1) @et () 3@y
(3) FER (4) feoett

44. FefafaadaPawadi e ?
(A) I AT AT T WS et o1 e 2foRm we ST o |
(B) AT Y BT 7 TSI ot T fora |
(C) Tt BT (Persian) HeT 1 U I1e8 & ST fozifeat gRT SIS o forg st feparm i |
(D) 7ot 1A AT TSHAR BT+ 7S hT JEAT § T FHRAH THHR F T |
(E) werrier S fomam, Sfeffart ot smifeanfimit & forsie et a1 31 o 3u 3 |
et fow T forspedt # & wel SR T :
(1) haet (A), (B) 3 (C)
(2) A (B) 3R (D)
(3) hae (A), (C) 3 (E)
(4) % (D) AR (E)
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45. Match List-I with List-IT :

List-1 List-1T
(A) Nana Sahib () Awadh
(B) Rani Lakshmi Bai (I) Arrah
(C) Kunwar Singh (III) Kanpur
(D) Birjis Qadr (IV) Jhansi

Choose the correct answer from the options given below :
1 @A) - @, B)- 1D, (C) - (1), (D) - AV)
(2) (A)-@, (B)- D), (C) - 1AV), (D) - (1)
(3) (A)- (1), (B) - AV), (C) - (ID), (D) - (1)
(4) (A)-(D), (B) - (@), (C) - (1), (D) - (IV)
46. 'Who was the leader of the Santhal Revolt of 1855-56 ?
(1) Birsa Munda (2) Gonoo (3) Sidhu Manjhi (4) Shah Mal

47. Who fought in the famous Battle of Chinhat in which the British forces under Henry Lawrence were

defeated ?
(1) Shah Mal (2) Maulvi Ahmadullah Shah
(3) Birjis Qadr (4) Kunwar Singh

48. Who was the Commissioner of Lucknow when the rebels besieged it during the Revolt of 1857 ?
(1) Colin Campbell (2) Henry Lawrence
(3) James Outram (4) Henry Havelock

49. The Sunset Law was associated with
(1) Zamindari System/Permanent Settlement (2) British Navy
(3) Imperial Court (4) Freedom Movement

50. During his ‘Salt March’ Gandhiji began walking towards the ocean from his ashram, located at

Fill in the blank with the correct answer from the options given below :

(1) Ahmedabad (2) Sabarmati (3) Wardha (4) Kochrab
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45.

46.

47.

48.

49.

50.

Fef-1 % FeA-11 o 91 Gaferd L :

a1 TEi-11
(A) FETHEIRS () 3@
(B) Tt e amg () 3T
€ Fx - (1) HER
(D) forfE®= (V) =Tt
=t feu e foreredt # € wE ST -

(1) (A)- @, (B)- (1), (C) - (1), (D) - (IV)
2) (A)- D, (B)- D), (C) - (IV), (D) - (IIT)
(3) (A) - ), (B) - AV), (C) - (I1), (D) - ()
(4) (A)- 1D, (B) - (@), (C) - (1), (D) - (IV)

1855-56 o TS fI5TE T T i o7 2

(1) foarger (2) T (3) Tagwish (4) wRHA
e i Uftg TS H i et o SH &1 SRE o =qed | fsifesT TTd gR s off 2

(1) IEHA (2) Hicrelt STERgeT e

3) forfmss 4) For g

1857 % forgie o QvH, S fosifeat 3 sass ot O foqam o, s o1 hiHsm i o 2

(1) it Fraee (2) TN

(3) T IASH (4) T oAt
BRESEAECRECIRERIE

(1) STHiET gumefl/seamr sereed o ) fafeordemra

(3) TRl FETAd | (4) AT SR

HOA FH WIS TSt A ¥ T 7o AT & T Al S =T T fopa |
Gt T sl A= fou e foshedt § O ot STed o

(1) 3TEHSTEE (2) HTeRHT (3) Tt (4) FHRT
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